cdafy eiller by i die cblasial L300 A1 L sie ilei §
B cullas ipliny Cypisal

A R N TR s o i sl S () Thacad

=
R e et Sanunpal snadTTaan PRI LN I EENEENERAREE IRl LR
=
| 4= . ’
W e S | e L EETTE R R LI TITTIT I I
ande - S8 | H - m
- - e -
all .
- -
] . = TR PremssssddTEITIIIEREE e W i b o R P B R
_J IR
- B mmraesisama waawana A e L e R B
B R Rmmiwe r s anr bt e e e
K T o
i B i e el = I L E W S REE St By S T R Sy e e _The T LT 5
8w s s .-__- i
- T k
- rd ) —
il il : | s - ek
B ... 22 AL . 5K =
=
e 4
o TR CUEEERR UL EEEE R R R L LR R BT T o ey A e e = B

L,
B



art

S I(x)= 3 '3'

—

Y Laniatlly

l.'--:l

cpalal) Ll el X AR

1

e 0 Jeait Mg L B5 )

; _,-..-_u__-._-_-_-'.‘-!.-_- =

T '_r"".‘l..‘:IL-J---
ol 8 2

i =
{EL"'.-..'! .
. . T, T .12 g (13

£ (%) wd f(X)=4x+2d

x—3
ST o
by (x) >

) (x)=-3—4x

gl g ol i3 Sl L (14

§ gl _ei Tl Aaid ANty

byl s 0 o=

X oS 15 il 4 J305 A o6 - AED 300 gl ey opspi $limg lana 3 55230 (13

a)300< x+y
L:J 3””5__}: :_L,

0 Nl BAIG Jhay Y ISy ol AAISS Sl

b)300<x—y
d) 300> x-y

1
!
!
$
’f
ff
!
!
i
%
!
|
¢
|

|
[
|



| -

ﬁ_r,it'—glf_i
-3y= Sy ol
g g el e Aalady puliies 4
s Slaal xladall
, i jil.qﬂ;.i.uq
- -'-au"{ll
(0,6) i,



_.l_,_,,_.y_,.,__u_m-im' Nl
T =

|
s T e
a2 i i At ) ] € AN il Ly iy 2
7 | 2 I : | *—"“*"'-_""' II
F31.75 ,' 14.5 7.25  [RaSShE
,I' el a0y ABEH g b oo e 5 A,

|
ﬁ
|
E

L gl 1l
| L B LI o
543 -2 -1 0 12
""""""" e R SR,
—\=p=Z 7. L [ T
T [ P - E I‘_.I_-l / T e T L F _-_-..= kT pal
"""""""""""""""""""""""""""" i 1o\l
ﬁxl, = O } Lot 1™ i /0
................. .[,; I I .‘l. | . .
i 1
e — ¥ {.:. .d. II_.\"'.::.{\.""\- |
r_ WHM'J!'EJJM;_LLHHI e _I S — 1



: '.;_',-_.:..Jf_f-ff—'“"“m“'"d XOTET R

«Th- 7 =5{h—41) 55—'-1’-.-....1:,3_,.:__,:.5

bYh=135

I
dyh=—4 '1‘
l
\
e ==L, > =5 sl (Z- 31}51?+4 A0 Ll sadl (6 %
! b)Yy 8
a) 16 d';—f-i- \
£ 1 ':IG’
‘;bk}i ﬁ.':.?f_ t.,l.a.-u'-.l-'._m.n._glltT
a) h=2 b)b=-3
g c)b=-2 d)b=3
|
;‘
‘-‘|I3:4:—3'I:91hh.-aw.-.r..{g
o 3 -4
a) ;[2,4} ‘ of b] {_2.’4}
fod . :
C) i 4 .:.} d} {_4 1}




Eigainly sl 1 Bal—a B
Esj_-}m_.iln:ul_-d.nm

A a2 Sl g il
p 2019 7 2018 ol ol plall

a) 3x—4x°
c) 3x* —4

a) —10a+3b
c) —5a+8b

X el g Bl X pra ] 3 AN il ey s g |

b) 3x—4dx
d) 3x* —4x

2a+ 3.’?]—3{4{1—3:-.}&3-:114:‘ W aail Jaa (2
b) —10a+9b
d) —5a+2b

 2x8-2'x8

Lo a2 (3
()1 |

o -:'.- £ ——]—r:—% Mldﬁhld

_ 1 il




S

B Jlas LS S0 e G

b)y=2x+3
d)y+3=2x

r12, 15, 18, 21, ... Lyluall L5 L sde HE 2ol b (10
a) 39 N o b) 42
&) 45 ‘ d) 48 |

3 L e (75—4) il (3,2) Uil e jlad piicaall Jaad A 7 R e (11

I
a) —6 5._.;'- : b =]

-

c) 12 Sipeo e Sy AT - ._ s 1

259 K\ S, eﬁub@nm}; 1_2[;:—%)._“51.[11
'ﬂj 217+y=2 ' o= mf e . b 1
A R B = ) —X——y=
| )2 5 2
) y=2x-2) . 7*% 4+ b d}P:ZI—l
.- 2



